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1 In a co-operative society which of the following principles is followed?
{A) One share one vote {B} One man one vote
(C) No vote (D) Multiple votes
(E)} Question not attempted

TE geard g § feffea § 9 e o @ gee e s &7

(A) TH SR TH AR (B) UH oMl Th qle
(C) wig Qe =8 (D) szHEs a2
(E) organa wed
2 The maximum number of partners allowed in the banking business are :
(A) Twenty (B} Ten
(C) No limit (D) Two

(E} Question not attempted

SfehTT geETE ¥ SHa WTTERT @ sifawad |@e §
(A) 9™ (B) =9
(C) i Hmr & (D) &
(E) o gana wed

3 Price discrimination is successful if :
(A) the monopoly is powerful
{B) wmarket is an international market
(C) price clasticity of demand is difterent in different markets
(D) buyers are mentally alert
(E} Question not attempted

T WEWE 9%d Bidl &, 91 ¢

(A) UBMUER SRR &

(B) 9N U% AU IR ¥

(C) fafir= & | S P AT B
(D) wiEr AFfa® &9 § Has, &

(E) o gana wed

4  Conditions of recession prevail when :
(A) Demand increases slowly (B} Demand is sluggish
(C) Demand is more than supply {D) No supply
(E} Question not attempted

w=l @ Rl 99 2 B o

(A) dm -y el & (B) =i g
(C) =i mgfd & st 2 B (D)aﬁéawfeﬁé’r%
(E) o ana ueq
5 The industries which provide support services to other industries are known as :
(A) Primary industries (B) Secondary industries
{C} Commercial industries (D) Tertiary industries

(E} Question not attempted _
T IEM T ST AN ®] HeTd% Ol Y Hid &, hed §

(A) wafm sam (B) fadmas s
(C) ot FeEm (D) JEw T
(E) arg=ia weA

CO-1 2 P.T.O.
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Window-dressing is prohibited by the convention of :

{A) Conservatism (B} Disclosure
(C) Materiality (D) Profitability
(E} Question not attempted

feRT-gRim frm v a0 whoeEtia & 7

(A) e (B) weeldu

(C) e (D) TR

(E) o gana wed

It is a characteristic of where in one roof goods are sold by making different
departments.

(A) Multiple shops {B) Departmental stores

(C) Wholesale trade (D) Hawkers

(E} Question not attempted

qE &0 fasar &, wief fafi= favmr a96 we & vq & @EE 9= S )
(A) wgEEas gl (B) fourfa wer

(C) 9% =AuR (D) Wl

(E) orgaia 9s

Social responsibility is :

(A) Same as legal responsibility (B) Broader than legal responsibility

(C) Narrower than legal responsibility (D) No-responsibility
(E)} Question not attempted

NS T & -

(A) H ITEITE & 9 (B) ST IEITE 9 &I SATa®
(C) & STEA § B4 (D) 13 SEm Tl

(B} &gaRa wed

When two or more firms come together to create a new business entity that is legally
separate and distinct from its parents it is known as :

{A) Contract manufacturing (B} Franchising

{(C} Joint ventures (D) Licensing

(E) Question not attempted

ST 3 A I Y oAfw B U W ARt TS 5 Aadiides 3Tg B A it & S A w9
¥ o AT § ot ot fafirse (distinet) €60 ¥, o 99 T@ ®U § WET AT E

(A) orgdy fmfor (B) e

(C) g wred (D) wzdftim

(E) sgaid wed

For membership of World Bank, it is necessary to be the member of :
(A) IMF (B) UNCTAD
(Cy WTO (D) UNO

(E} Question not attempted

fo 9% & geEar & g M e TAT AAAH B
(A) 3. UA US. (B) guaHidlus,
(C) ==gdram. (D) g.uA.4.

(E) =i us7

CO-1 3 P.T.O.
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Outsourcing a part of entire production and concentrating on marketing operations in
international business is known as :

(A) Licensing (B} Franchising

(C) Contract manufacturing (D) Joint venture

(E} Question not attempted

mﬁ@zwﬁwﬁw%w%@aﬁmmaﬁﬁmﬁmwmaﬁam
HEAT
(©) s P ) g
AqIY qgad 9Ed
(E) or=fE e

Which type of capital is low cost capital?

(A) Equity capital (B) Debenture capital
(C) Preference capital (D) Retained earnings
(E) Question not attempted

= ¥ ¥ &9 90 aren gair s 9 8 7

(A) R gei (B) fed=t golt

(C)  ftmm el (D) gfaa wois

(B} &gaRa wed

Which is the most short-term effective measure to control inflation?

(A) Price control (B} Increase in supply of goods
(C) Increase in bank rate (D) Open market operations
(E) Question not attempted
Wﬁraﬁﬁaﬁamﬁgmﬂaﬁmﬁiﬁwﬁmﬁﬁm%?

(A) 7=a i (B) 5 &l g § gfg
((,)‘él'oﬁa'{ffqﬁg (D) g« IR & wickar

(E) o gana wed

The determination and grouping of activities. delegation of authority, span of management
etc. are involved in the functiening of :

{A) Planning {B) Organizing

(C) Directing (D) Controlling

(E)} Question not attempted

et w1 FaRm ST @Emh, WHHI &1 Fa™e-, e @ far onfy frafafaa &
BB T E

(A) SR (B) wTeq
(C) s (D) foimor
(E) g wsd

The manager. who motivates people explicitly or implicitly threatening punishment of
some kind for non-cooperation is using :

(A) Positive leadership (B} Negative leadership

(C)} Centralized leadership (D) Decentralized leadership

(E} Question not attempted

Ya, A AF Bl W B 9 AT Ve 'Y A WA B & o erediT & fau e et @

T B P! I B &1 ITENT HT & )
(A) FHTES g (B) THRI&E A
(C) e g (D) ferdsligd g

(E) ST wsd

4 P.T.O.



16 Mitakshara System of inheritance is found throughout India except in :
(A) U.P. and Bihar (B} Bengal and Assam
(C) Assam and Meghalaya (D) Bengal and QOdisha
(E} Question not attempted
Y ! FATe oIel Wi WX W 9Tl ST ¢ A 3

(A) g9 it feR o (B) MW ofiT oW o
(C) 9EH ST "umag o (D) &mw ot anfeem ®
(E) orgaia 9s
17 Match the following :
a.  Dormant Partner i. A partnership formed for a specific
venture.
b.  Joint Venture ii.  Does not take part in the management of
the firm.
¢.  Partnership Deed iii. A partner becomes of unsound mind.
d.  Dissolution through Court iv. A written agreement containing the terms
and conditions of a partnership.
fretatEd &1 fam Bifag
a. Titea e i. uw fufne grw & oo 998 T aEEr
b. UgF WEE il TH % YT H 9O 78 o §
c. wEE gdE iije EER e foqm @ 81 S 3
d.  —EwE % qead q fages v, ues ferfad wagian R gl & Fem e
gId 2l )
(A) a-ii, b, c—iv, d-iii (BY a—i, b—iv, ¢—ii, d-iii
(C) a-iv, b, c—iii, d—iv (D) a-ii, b—iv, ¢, di
(E) Question not attempted/ R A
18 The Reserve Bank of Indiatis an example of company.
{A) Chartered {B) Registered
(C) Statutory {D) Government
(E} Question not attempted
Aag fod d@ HUA! BN TH ITE S|
(A) == (B) dsiigd
(C) Juit® (D) "t
(E) orgaia us
19  ““‘One man One Vote™” is normally adopted by :
{A) Government Company {B) Public limited company
(C) Co-operative society (D) Private Limited company

(E} Question not attempted
‘U AT U A’ TMEIT: fhddh BTO ST99™T Sl & ?

(A) T S (B) Hre fWies Ha
(C) wedrQ "y (D) T fafes o
(E) or=fe wsd

CO-1 8] P.T.O.
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District Commission shall have Jurisdiction to entertain complaints when the value of
goods or services paid as consideration is :

{A) 1 Crore to 3 Crore (B) Less than 1 Crore

{(C) 3 crore to 5 crore {D) More than 5 crore

(E} Question not attempted

FreTT aTreT & v firradt aX faram e @1 Sife S ST Wiawd & &9 H q @l T el

a1 G B G §

(A) 1 B 9 3 &0 (B) | &U= ¥ ®H

(C) 3 B0 ¥ 5 B0 (D) 5 &5 § siferw

(B} &gaRa wed

Prior to Jan 15, 1964, the ECGC tfunctioned as :

{A) Exports Risks Insurance (B} Export Corporation
(C) Export Insurance Corporation (D) Export Risk Insurance Corporation
(E) Question not attempted

15 S=adl, 1964 9 vgd, sdiimr (ECGC) % & H B war 4
(A) frata sifem dmn (B) fl@ tm

(C) Trafg dmr e (D) frama Sifes o fm
(B} &gaRa wed

Walter modecl is bascd on the rclationship between rate of rcturn and
{A) Capitalisation (B} Equity Capital

(C) Reserve and Surplus (D) Debentures

(E) Question not attempted

el "isH Wik Al & T % did day 9T araid £
(A) Fefieprr (B) gferrdy oM

(C) = ofr aifusiy (D) fedax

(B} &gaRa wed

Working Capital in a company can be used for financing the :

{A) Plant and Machinery (B) Intangible Assets

(C) Land and Building (D) Raw Materials

(E} Question not ati€mpted
@Mﬁmsﬁﬁ%ﬁmwmﬁﬂwﬁﬁwmwm%?

(A) ¥aa o "t (B) o geafo
(C) o 3R wae (D) e =
(E) arg<ia wed

Successfully hiring, training and motivating able employees who want to serve the
customers well is :

{A) Internal Marketing {B) Relationship Marketing

(C} Product Marketing (D) Service Marketing

(E)} Question not attempted

AEdt DI ADT TE § T B & TGH qaF BN D ThAAAD HME TC TG, WTEoT
= oI IR BT ¥

(A) andle fagem (B) frederdl Rmuve
(C) 3ar fquom (D) Far R
(E) arg=ia weA
6 P.T.O.
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Starting point for understanding the buyer is :

{A) Stimulus {B) Psychology

(C) Stimulus response (D) Purchasing power

(E)} Question not attempted

el & wHE & forg e fig 2

(A) "Tom (B) #-fesT™

(C) o wiafsean (D) wma st (E) araia 97

Which is the accounting concept that requires the practice of crediting closing stock to
the Trading Account?

{A) Going Concern (B} Cost

(C) Realisation (D) Matching

(E} Question not attempted

AIHA STAUON DA A1 & forees fow =R ad o oifow =id S S5 @ 94T ®1 STasdehar

2l 27

(A) %sfsré (B) wrE

(C) (D) fm (E) orafea asd
Posting is done from :

{A) One subsidiary to another {B) Ledger to subsidiary book

(C) Subsidiary to Ledger (D) Ledger to Ledger

(E)} Question not attempted

[CRIR I I I

(A) TH GEUHAE ° gEl (B) @R ¥ Geradhae |

(C) Terashasl § Tae!l o (D) @@l § garEel 4 (E) i 997

Accelerated methods of depreciation “are favoured because of :
(A) considerable savings in taxes
(B) the fact that assets are niore productive in earlier than later years
(C) the possibility of raising more resources for the replacement of assets
(D) the provisions in the. Companies Act
(E) Question not attempted
& HRV geusra.al @i faftet w1 wmds fear e g
(A) &0 A W g9
(B) wufa=i @E & aup &l H urd offuw TaEE ¥ % a
(C) W%W%@Mwm@ﬁﬂw
(D) Ut srtyfg & wredE

(E) o aia ued

‘A’ is admitted as a new partner and agrees to pay I 5000 as premium, but brings only
T 4000 in cash. The balance of ¥ 1000 must be debited to :

{A) Goodwill account (B} A’s loan account

(C) A’s Current account (D) A’s Capital Account

(E)} Question not attempted

‘A" B UE AU UEER & w9 A e e wrar ¥ el g diftem & ' A T 5,000 @1 grae
FH % o0 TEHT BT &, i The | haw < 4.000 @ 313 1,000 %1 9w iy =

¥ 3IUN o ST A@ifEu)

(A) ®Ia @ (B) A % o7 @mam

(C) A% 9 @l (D) A& qsil @r (E) st 9ev

7 P.T.O.
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For an item of 500 units existing sales are ¥ 1,00,000, Variable costs are T 60,000, Fixed

costs are I 24,000. If selling price is reduced by 10%, then which of the following is the

breakeven point sales quantity?

{A) 450 units {B) 500 units

(C) 400 units (D) 334 units

(E) Question not attempted

500 zral aer axg A deEr fa T1,00,000 %, afEd @a T 60,000 %, Rex v

§24,000%|m%1%a%‘ra§a 10% =9 & W &, & Frafaiad § § s auge g bt |Jen
?

(A) 450 Z&TE (B) 500 3@r3
(C)y 400 3&Tg (D) 334 T
(E} oraiid ued

Which of the following is an example of cash flow from investing activity?
{A) Interest received by a non-financial company

(B} Proceeds from issue of shares

(C) Dividend received by a financial enterprise

(D) Cash purchase of inventories

(E} Question not attempted

frefefaa & & @ @1 Fragr Tigtata § s YarE B U SeET 7
(A) TH -G ST E AT TS

(B) 9O 9O A W Wik

(C) TH RRI™ =W F 9 i

(D) 9 Wik @ The Tl

(E) =i a7

A machine was purchased on 1:4:2015 at a cost of T 10,00.000 and its useful life was
estimated to be 10 years. [tsreplacement cost was I 18,00,000 on 1.4.2020 and % 20.00,000
on 31.03.2021. What 1s'the;amount of depreciation adjustment?

% A W1 1.4.2015.%0.F 10,00,000 1 70 ¥ @@ @0 o7 ST 38R I Se 10 79
3TTeRT TTT T | 3EehT Weemas e 1.4.2020 @i T 18,00,000 3k 31.03.2021 =t T 20,00,000
oY | T GHTAISA bl T & & 7

(A) T 80.000 (B) ¥ 90,000

(Cy ¥ 1,00,000 (D) ¥ 95.000

(E) Question not attempted / A A

Which of the following model suggests valuation of human assets on group basis rather
than on individual basis?

(A) Jaggi and Lau model (B) Flam Holtz model

(C) Lev and Schwartz model (D) Morse net benefit model

(E} Question not attempted

frefafad & § 9 @1 Hisa @ YR % I9Y §E $ MY U A9 YUt F g

& GHE a1 B 7
(A) w0 3R T8 wiEw (B) WM e Aisd
(C) v 3R 2w misw (D) =it gr @ Atsw
(E) or=f wsd

8 P.T.O.
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In the question given below are two statements labelled as Statement I and statement I1.
Examine the statements and select the correct option.

Statement —I : Business refers to all those human activities which are related with
production and distribution of goods and services.

Statement —1I : Environment refers to all internal and external forces which have a
bearing on the functioning of business.

(A) Statement-I is correct. (B) Statement-II is correct.

{C} Both statements are correct. (D) Both statements are not correct.

(E} Question not attempted

9 Ru o us & 3 wuw ¥ A ®mem 1 ofT weam 11 ®er T &) ®ue @ Wi ®E o wé
Rrbea &1 Tgs L

B 1 cugmu?{uwdwwﬁmﬁuw&ﬁfbﬁﬁ%ﬁa&gaﬁaﬁﬁaﬁ%wﬁﬁﬁw
g gt £

Had 11 : Tiater 99 41 afais o 9l orfoal &l §eiia & &, Fe Zaas & S
T AT 9= &

(A) »uT [ 98 T (BY maq I @Y 21

(C) =0 & & E) (D) AT ®uT mE TR ¥

(E) =i a7

Which of the following is true about the Statutory Corporation?

(A) Statutory Corporations are public enterprises.that come into existence by a special
act of parliament.

(B} Statutory Corporations are subject to-the. same accounting and audit procedures as
are applicable to government.

(C) Statuary Corporations are directly funded by the government treasury.

(D) The employees of Statuary Corporations are civil servants.

(E} Question not attempted

et fm & amt # frefafeg 7@ s @wd B ?

(A) dufes fm wrete 3T 2 o SEE & us faow arfufram gro alfaa ® e €

(B) aenfies T S Wi @ik sidaer yipanel o o8 § S 9 9T @] & |

(C) et Ty Hig g woe 9 faaunyg g §)

(D) Fenfies i & HHATH TEHT @ E |

(E) o gand e

A partner can transfer his share to an outsider :

(A) without the consent of other partners but with the consent of registrar.
(B) without the consent of government.

(C)y with the consent of court.

(D) with the consent of other partners.

(E} ~ Question not attempted

TH WIIETL STOT fee fopell S0 Al B TEACIT B qHaT & |
(A) o AriRRY & Feufy & 7 Afe e & geufy 9

(B) W@t @ wgHlq & far

(C) <T@ geda 9

(D) o= YWRIRRI @ 98qfd 9

(E) or=f wsd

9 P.T.O.
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Demand Deposits includes

{A) Savings account deposits and fixed deposits.
{B) Savings account deposits and current account deposits.
(C) Current account deposits and fixed deposits.

(D) Only fixed deposits.

(E} Question not attempted

fenis feuitae # e ¥ ¢

(A) <uq @Er FH ST i S )
(B) 99a @rar w1 3R 9] @T W
(C) = @ FET ST waty S
(D) <o HERT S|

(E) or=fE e

Which of the following pairs is incorrectly matched?

List-1 (Strategic Alternative)
(A) Stability Strategy

(B) Expansion Strategy

(C) Turnaround Strategy

(D) Dinvestment strategy

(E} Question not attempted

fFrfoiad § | ®A-—a g T garad 6 ¢
-1 (it fre)

(A) Tatan wrHifa

(B) fomat Tomifa
(C) THES A

(D) Tatm@yr Tt

(E} oraiid ued

10

List-11 (Attributes)

Maintaining the existing business without
any significant variations or additions.
An_aftempt to grow either by
intensification or by diversification

The strategic option which entails
reduction of existing product or service
line, to improve performance in reaching
objectives.

Shedding business units or product
divisions or segments to re-employ
resources for better performance.

TH-11 ()
fa1 ot meEyul geeg At uiadH & WisgE
AT & T @

TETar a1 Tl 2R 98+ &1 yam|
TUHITees faed Sl S29dl o qgo H UReE
Bl SEAX I & o0 WeEr IaE A g9
WET Bl ®H Hidl

Fea? WEeH & fou gameE i R 9 e
H o [T TG SHEdl a1 3TE THT
T G B B BN

P.T.O.
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According to which theory, one country may be more efficient in producing a particular
goods than another country and that another country may be capable of producing some
other goods more efficiently than the first one?

(A) Theory of comparative advantage.

(B} Theory of absolute advantage.

(C) Theory of international product life cycle.

(D) Theory of mercantilism.

(E} Question not attempted

fep Rygia & orgEr, T 391 frdll fagiy axg & wemew A @Y 39 & gE F e g9 @
THAT & G AU 97 Toal & Gl # FB 3 TEgoll B D HAG o ST bt § qed
T T B 7

(A) TaTE AN P R

(B) v @ &1 fasia

(C) i< saE Sew 9% # taaa

(D) =fereorane @1 fasia

(E) =i a7

In the question given below are two statements labelled as Statement I and statement II.
Examine the statements and select the correct option.

Statement T : A Global Depositary Receipt (GDR) is a bank certificate issued in more
than one country for shares in a foreign company.

Statement —I1 : GDRs are called EDRs when private markets are attempting to obtain

Euros.
(A) Statement-I is correct. (B} Statement-1I is correct.
{(C} Both statements are correct. (D) Both statements are incorrect.

(E) Question not attempted

A U T we § 9 wu € e wua ol wae 1 wer R wuel @ S sy aht |98
Rrbea &1 Tgs L

w1 : us I Frew R (GDR) % fa3slt ot o s & foo o @ orfss 390 o oy
TpaT T us 9% YA 9N &1

& 11 : 519 foll S QU Wi &3 &7 W9 &Y @ 21d & df GDRs & EDRs &gl Sl 2|

(A) &y | 92 | (B) = I 421 81
(C) =T B9 98l 2| (D) =i U T £
(E) agaiia ued

In India a Credit Bureau is governed by which of the following Act?
(A) Credit Information Companies (Regulation) Act of 2003

(B} Companies Act, 2013

(C) Banking Regulation Act, 1949

(D) Securities and Exchange Board of India (Credit Rating Agencies) Regulations, 1999
(E)  Question not attempted

ARG o hise =1 Fetarag & € fpg arftrfem gro i ian 37

(A) 2005 =1 sz gam Hu (fqFaam) sty

(B) 9T artyatram, 2013

(C) o fafmme arfafrem, 1949

(D) W wiayfa ofik fafme 9% (ke M weitan) fafmm, 1999
(B} &gaRa wed

11 P.T.O.
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Which of the theory of business ethics is involved when decisions and actions are governed
by set rules and principles?

{A) ‘'leleological Theory {B) Deontological Theory

(C) Theory of distributive justice (D) Virtue theory

(E)} Question not attempted

43

44

CO-1

ATAHG Tl & &iF a1 fagia e & 59 FHoig ot = Haifa et ofe fagiat g
e B § 7

(A) e fae (B) i) faaia
(C) foyarmes =g @ R (D) wEER s
(E) arg=ia weA

According to Milton Friedman the focus of CSR should be :

{A) Only to increase the profits of business within the existing rules and regulation.
(B} Giving part of profits to worthy charities.

(C) Providing financial assistance to colleges and universities.

(D) Making sure the company is as green as possible.

(E} Question not attempled

e Wit & @R o uE &R (CSR) &1 B &7 =@y ¢

(A) HrE fraet ot fafest & ot aa zeqg & % #@ sed & o
(B) dra I & @MW B feeEn ol

(C) wia=t &R faufomaat & kg gema &= s

(D) I® @ BT {6 Bl FAEAS BT 2

(E) or=fE e

In the question given-below are two statements labelled as Statement 1 and statement 1.
Examine the statements and select the correct option.

Statement I : Globalisation implies integration of economy of country with global economy.
Statement IT : Globalisation focused on industrialization.

{A) Statement-I is correct. (B} Statement-II is correct,

(C) Both statements are Incorrect. (D) Both statements are correct.

(E} Question not attempted

A R o gsT § 1w & B wua 1 i sy 11 ®er T &1 Al @ 9 e ST ger
e &1 T B

F1 1 : Ifiwto & a9 B ereferawen &1 Aftrs srderawer & @ UG E|

e 11 : 3Bt sfeirso ot &faa )

(A) & 1 981 % (B) »ud 11 91 &1
(C) =T ®HU= Tad E (D) =Ml U T E
(E} oraiid ued

12 P.T.O.
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In the question given below are two statements labelled as Assertion (A} and Reason (R).

In the context of the two statements, which one of the following is correct ?

Assertion (A) : Management is a dynamic function which is to be performed continuously.

Reason (R) : Policies and procedures of management are quickly changed to cope with

the changing business environment.

{A) Both (A) and (R) are correct, and (R) is the correct explanation of (A).

(B} Both (A) and (R) are incorrect, but (R) is not the correct explanation of (A).

(C) (A) 1s correct, but (R) is incorrect.

(D) (A) is incorrect, but (R) is correct.

(E) Question not attempted

A o U 959 ¥ w9 (A) R wew (R) & &9 & dQd 6T 70 2 %o E1 ) wuAi & g2

o Fefafga o @ &9 @ @ 27

F (A) @ yEUS S A sl * A @A fean s )

ﬁ%R):WﬁWW%W%WWWﬁW@RWﬁ@W
|

(A) (A) 3i” (R) 31 &8 &, 3l (R), (A) & ¥ = 2

(B} (A) T (R) & e &, @ (R), (A) @1 &1 =avedn & 81

(C) (A) 91 &, dfe (R) 7Tea &1

(D) (A) Toq %, @fFT (R) @& &1

(E) or=fE e

Principle of management which implies that there should be “One Head and One Plan™
for a group of activities having the same objective 1s :

{A) Decentralization (BY Authority and responsibility

(C) Unity of Direction (D) Unity of command

(E} Question not attempted

waER B fagia, e ared ¥ % us EhSted a Attt b O8YE % Y 99 8 Us o
W ET ey, E o

(A) Terbdramor (B) wifteptor ot forserdy

(C) oM & ueman (D) Tog=ror &t Tepan (E) orara wea

In the question given below are two statements labelled as Assertion (A) and Reason (R).
In the context of the tworstatements, which one of the following is correct?
Assertion (A) : Staffing helps in obtaining right person tfor right position.

Reason (R) : Selection is positive process.

{A) Both (A) and (R) are correct, and (R) is the correct explanation of (A).

(B} Both (A) and (R) are incorrect, but (R) is not the correct explanation of (A).

(C) (A) is correct, but (R) is incorrect.

(D) (A) is incorrect, but (R) is correct.

(E} Question not attempted

A9 feu U g5 ¥ ®UF (A) X wew (R) & &9 § dad BT TU 2 % ¥ 1 ) wui & g2
¥ frafafga & @ &= @ w27

FH (A) : TINET 981 Uz & o a8 @Rl B o B o 988 B §)

& (R) : T49 HhTOcT® WihaT &1

(A) (A) aX (R) M wer &, X (R), (A) &1 w&l = 2|

(B} (A) T (R) =Ff Tiq €, ofeh (R), (A) & @El = & 2|

(C) (A) &8 2, 9T (R) 7T |

(D) (A) Toq %, @fFT (R) @& &1

(E) =i a7

13 P.T.O.
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Match the following :

List-I (Style of Leadership) List-IT (Attributes)
a. Laissez-faire 1. Requires a strong vision or inspirational
leader.
b.  Autocratic 2. Does not work well in all situations.
¢.  Transactional 3. Exerts complete control over the
employees.
d.  Transformational 4, Preferred for those emplovees who
require less supervision.
FrefaiEaa @1 @ $ig
-1 (rg= & i) 1T ()
a.  oTEEIEM 1. U% "srgy gt 91 IRvEES AT @
HIALIHAL 2 |
b. g 2. & Rafg F S e e
c. WA HaH 3. wHaidEl 9T qu fEer e 2
d. il 4. . 3 wHan % fau aig & (Preferred)
= &9 THideer B sEsusmdl Bl 5 |
{(A) a-3; b-4, ¢-2, d-1 (B} a-3, b-4, c¢-1, d-2
(C) a-4. b-3, c-2. d-1 (D) a-4, b-3; c-1; d-2

(E) Question not attempted / G@ﬁ‘d LES]

MM theory in prefect market suggests that dividend payment has :
(A) no impact on the value of the firm.

(B} a positive impact on the value of the firm.

(C) a negative impact on the value of the firm.

(D) marginal impact on the value of the firm.

(E} Question not attempted

7o R H UH UF e S § 6 amis e e w6 qe W
(A) B 99 TE Jl 2

(B) HHTUHS WWTT U=aT

(C) ShIU™s T9Tg usdl 8|

(D) Il quTE S E

(E} oraiid ued

14 P.T.O.
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The formula for computing the Degree of Operating leverages (DOL) is :

_ Percentage change in EBIT _ Percentage change in EPS

a DOL : DOL .
' Percentage change in sales Percentage change in sales
«  DOL-=- Contribution 4 DOL-= Percentage change in EPS
EBIT EBIT
Select the correct answer from the given options :
(A) a, c and d only (B b, ¢ and d
(C) aandd (D) aand ¢

(E)} Question not attempted
et dats & i (Srafua) & T HE BT T

EBIT = wfaem uftas= EPS ¥ yiqea aftac=
2 DOL = s v e b DOl = e 3 whver whcai
c DOL = e Fl i DOL- EPS # ywidsa uftad
BIT EBIT
N N
(A) %od a, ¢ 3T d (B) %aw b, & d
(C) hew a 3T d (D)ao_clﬂaaﬁTc
(E) oraf ueA

In the question given below are two statements labelled as Statement 1 and statement 1.
Examine the statements and select the correct option.

Statement —I : The capital structure should myvolve minimum risk of financial insolvency.
Statement —IT : The use of excessive debts threatens the solvency of the company.
{A) Statement-I is correct. (B} Statement-II is correct,

{C} Both statements are correct. {D) Both statements are not correct.

(E) Question not attempted

AT o 70 T F B FAE TR B 1 ST FEA 11 F T 5| HAA BN A HE SR T
T &1 T9T B

FH 1 : ol wxee B fafras & o Sifew e S anfea |

®e I1 ¢ STATU® Hoch ST | HUT DI HOTSNE &l & @ad 5|

(A) ®uT [ 98 T (B) = I 421 81
(C) i BT WY £ (D) =i ®uT o E E
(E) arg=ina weA

The interest rate at which the Reserve Bank absorbs liquidity from banks under the
Liquidity Adjustment Facility (LAF), on an overnight basis, against the collateral of
eligible government securities, is :

(A) Marginal Permanent Facility (B) Bank Rate

(C) Repo Rate (D) Reverse Repo Rate

(E)} Question not attempted

g gl ufagfadt & duiite & Raare, Rod 9 fag sawr g3 ur gafiy gaass gl
(LAF) % T&d §® & qeadr & Ui SNem 93 JTasiiy e €, 98 -

(A) i @ g 2 (B) dp T ¥
(C) ™MwE? (D) g i #
(E) oT=fa wsd
15 P.T.O.



53 The Central Government has powers to supersede the SEBI, in case :

{A) The members of SEBI make an application to the Central Government to do so.

(B} The SEBI is unable to discharge its functions and duties under the provisions ot
SEBI Act, 1992 or it is necessary to do in public interest.

(C) The SEBI do not have required number of members.

(D) The SEBI on its own makes an application to the Central Government to do so.

(E} Question not attempted

% @B & 9| SEBI &l SRl & & qiemdt &, 9

(A) SEBI & 6a® UaT &1 & MU &g 9{®IT & UF A9 & £ |

(B) SEBI atfufwad, 1992 & wraari & @&d SEBI o0+ &M@l &fiT &cedl @ egT s o
agd & ar wERg § UET ST STEYTE 2

(C) SEBI % 99 Hel #I IMay® & &l 21

(D) SEBI w4 T & & fou %y W@ & UH ATGET Hdl £

(B} &gaRa wed
54 Match the following :

List-1 (Propounder of Theory) List-I1 (Theory)
a.  William Ouchi I. X and Y theory
b.  Vroom 2. Z Theory
c¢.  Douglas McGreger 3. Hygiene theory
d.  Fredric Herzberg 4.  Expectancy theory
FrefaiEaa @1 @ $ig

T-1 (R 3 witnes) Th-11 (frzia)
a. fafraw sien 1.0 X &R Y Rrsma
b. =&H 2. 7 s
c. =@ AHATT 3. @ faefa
d. s s 4. v fasia
{A) a-3; b-4: ¢-2; d-1 (B} a-2; b-4; c¢-1; d-3
(C) a-2: b-4; ¢-3: d-1 (D) a-3; b-4: ¢-1; d-2

(E) Question not attempted / T 957

55 Arrange the following steps of human resource planning in correct order.
1. Supply forecasting
2. Analysing the organisational plans
3. Estimating the net human resource requirement
4. Forecasting the overall human resource requirement
AMe woyd feem & fefftag Tt e 92w § safiug e
1. 3yt # qatgam
2. ETSATHEG dieTel ®T fasewer ST
3. & "G HErES STa9uhal d STAN Il
4. T AME SHGT STEsARAT B GEATAN T

(A) 2.4, 1.3 By 4,3,2,1
() 3. 1,42 (D) 1.3,2. 4
(E) Question not attempted / SITANT 98T

CO-1 16 P.T.O.
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Match the following :
List-I (Concept)
P.  Human Resource Management

Q.  Human Resource Planning

R. Recruitment
S.  Development

ffied &1 feE sifag -
-1 (sramen)
P.  A-a gaEd yaud

Q. ¥ " FEed e
R. i
S. Taem

(A) P-3: Q-4; R-1; S-2
(Cy P-3; Q-4: R-2; §-1

(E) Question not attempted / SIFai 99

L%

List-1I (Attributes)

Its objective is to create a pool of the
prospective job candidates.

It involves growth of an employee in all
respects.

Get qualified person at right time.

It focusses on managing physical and
emotional capital of employees.

Th-11 ()

DT TLYT WU bl SHIGER] & Uh
Y g B

Ay g 9 W Uk SO & e snfre
=

qrg Afe o Tel 999 T 9T BT
Tg. HHTIEl B Wi 3R HETeS IS B
TEET 9T O hisd B 5

(B)“P-4; Q-3; R-2; S-1
(D) P-4; Q-3; R-1; S-2

Which of the following is NOT a modern method of performance appraisal?
{B) 360 degree appraisal
(D) Human resource accounting

(A) Management by objectives
(C) Paired comparison
(E)} Question not attempted

Frefeafea & & wE—ar fmaea qegieT & ue snygfe Tl T8 &7
(B) 360 it qeaiea
(D) AWE gEEN q@ied

(A) Szodi @4 wEeA
(C) SRR ga
(E) o and 9ed

When a company treats each single customer as separate segment, this is called as :
(B} Micro marketing
(D) Nano Marketing

(A) Niche marketing
(C) Single Marketing
(E} Question not attempted

S U Il Td AEH ®] S TS & &7 o A &, TH HaT ohel & ¢
(B} Higeh! ArchieT
(D) =91 ARhRET

(A) Trar At
(C) Tmd HBIET
(E) agaid ued

P.T.O.
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Match the following :

List-I (Concept) List-II (Attributes)
P.  Real needs 1. Expecting good service from car dealer.
Q. Unstated needs 2. Customer expects to be seen by his
friends as value oriented savvy customer.
R. Delight needs 3. Customer wants car at low operational
cost and not initial cost.
S.  Secret Needs 4.  Customer receive free insurance on
purchase of car.
frfafiea @1 R @it
-1 (@) FA-11 ()
P. Irda® SMEasAd 1. X @ 9 o1l 9| &1 IR |
Q. oF®E maygeRan 2. TEH U I ¢ R SHe B o9 g
@ THI UEH & &9 F G|
R. U&=al &I 3asashdrd 3. TES FY A A0 9T HIT AEdT § |
o wrafe ArE 9T
S, TE AEIHAY 4. BT D GUOTT TEH &I o ST e 31
(A) P-4; Q-1; R-2: S-3 (B P-3;Q=12R-2; S-4
(C) P-3; Q-4;: R-2; 8-1 (D) P-3; Q-1; R-4; S-2

(E) Question not attempted / STIAT U5

Which of the following is the model of individual behaviour stating that individual is
willing to sacrifice his interest for the sake of organisational interest?

{A) Rational—Economic Man Mod¢l (B} Social Man Model

(C) Organization Man Model (D) Complex Man Model

(E} Question not attempted

fr=fafaa & § 29 o1 ARFRPR F@eR & Aied &, 9 a9 © 7% ARk @Teaee & & fau
39T Bfa afds™ S wGER &7

(A) afe—sni¥s AT Aed (B) qmITSTE WEE HiSw
(C) UTes AFa oiEd (D) Wfew 99 s
(E) or=fE a7

Which of the following is NOT a trait of Type-A personality behaviour?

{A) They are work alcoholic and prefer work alone.

(B} They are competitive and set high standards for themselves.

(C) They are prone to stress at work and therefore suffer from physical and mental
aillments.

{D) They work patiently and do not feel urgency for work.

(E} -~ Question not attempted

fr= ¥ ¥ BH-T TRU-A IR AIER BT THAT TE & 7

(A) ¥ %19 % AEsd (work alcoholic) ¥ ¥ /b &M T UET B &

(B) o wiumet ¥ &fx o foiw =g we Tuifa & 2

(C) ¥ &M W a9 % B g € ofr zafe smiiRe o amfys Smfat 9 difsg o &)

(D) o RdyEis M HId § ol BM % U sramasgdar (urgency) FEYE TRl Hd B

(E) or=fE wsd

18 P.T.O.
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Match the following stages in group formation given by Water Kiechel III :

List-I (Stages) List-II (Attributes)
a. Forming 1.  Group tinally work on the goal.
b.  Storming 2. Standards are set for aceeptable and
unacceptable behaviour.
¢.  Norming 3.  Members join to form a group.
d.  Performing 4.  Purpose of forming the group is
determined.
areX fbew 111 grT faw 0w fmfor  frefafea aon @1 fimw &t
-1 () w11 ()
a. oA 1. ©F &) H @& U B B £
b. i 2. WeE AN B ag & [\ qed
fraifea fpg o #)
c. ST 3. WSW UH U M % MU 9 )
d. urmndT 4. §YE 99 @ 3297 it fomm mam #
(A) a-3: b-4; c-2: d-1 (B) a-3; b-1; ¢=2; d-4
(C} a-2; b-1: ¢-3; d-4 (D) a-2; b-17 ¢-4; d-3

(E) Question not attempted / STIATT U5

In the question given below are two statements labelled as Statement I and statement II.
Examine the statements and select the correct_option.

Statement- 1 : There is no standard method for environmental accounting.
Statement-1I1 : Environmental accounting is applied to textile industries.

(A) Statement I is true, but Statement 11 is false.

(B) Statement I is false, but Statement IT is true.

(C) Both statements are true.

(D) Both statements are false.

(E} Question not attempted

A U T we § 8 wud SR w99 1 el a1 wEr R wuel @ Wi sy aht |98
T &1 T9T B

F 1 : TATEX BT & (T BIE GE GHEA TG £

&9 I : BUeT a9 waiElia weidd @r] &har & |

(A) &9 1 99 %, died H99 11 @\ 8|

(B) wud | oA &, @feT ®uA 1l T ¥

(C) =i a7 9 &)

(D) T ®HUF A T

(Ey agaiid ued

Choose the correct sequence of accounting function from the following options :

Frfeien fed! & & wgieT ® & §8 %A g

1. Interpretation / =am@n 2. Summarising / G HT
3. Recording / atfyeres 4,  Classifying / FHLOT BT
(A) 4.3 1,2 (By 3;4;1:2
(Cy 4;3;2;1 (D) 3;4;2:1

(E) Question not attempted / STIATT U5

19 P.T.O.



65 Match the following :

List-1 List-II
a.  Business is treated as separate entity.1.  Going concern concept
b.  Transactions are recorded in 2. Dual aspect concept

accounting which can express in
terms of money.

¢.  Every business transaction has 3. Business entity concept
two-fold effect.
Business has an indefinite life. 4. Money measurement concept
ﬁlﬂri%iﬁgﬁ &1 e sifeg -
-1 -1
a.  AIHE B AT IHE h T W HAAT 1. AW A STEUTLON
ST ® |

b. W93 W@ A o BpU g ¥ S
T % g4I § e fRU o gahd ¥
c. Ud® AEHIU® W-ad & 3BT Y9G 3. HEENaGs 3w ST

A

TEL TG Bl SFAIROM

BT B
d. =aaEm % afiE SaT s E 4, Fe H9E, TGO
{A) a-3: b-4; ¢-2; d-1 (B} a-3; b-4: c-1; d-2
(C) a2; b-1; ¢-3; d-4 (D) a-2; b-1; c-4; d-3

(E) Question not attempted / STIAN 95

66 Maich the following :
List-1 List-11

P.  Intangible assets 1. AS-10
Q. Property, plant and equipment 2. AS-16
R. Borrowing Cost 3. AS-20
S.  Earnings Per Share 4,  AS-26
frfafaa @1 fem St
-1 -1
P orqd Hufd I.  AS-10
Q. g, T aur IUH 2. AS-16
R. sS4 @ra 3. AS-20
S. Wi 3T ™ 4. AS-26
(A) P-3; Q-2: R-4; S-1 (C) P-4; Q-1; R-3; S-2
(B} P-4; Q-1; R-2; S-3 (D) P-3; Q-1; R-4; S-2

(E} Question not attempted / AN Ug

67  Find out the sales of Ajay Ltd., if cost of goods sold is ¥ 72.000 and gross profit is
10 percent of sales.
arerg fates &t ot st %, afe =i T2 awgei @t ara T 72,000 B oY wehd e fa @
10 witer 1
(A) T 1,60,000 (B)Y T 72,000
(Cy 90,000 (D) T 80,000
(E} Question not attempted / AN Ug

CO-1 20 P.T.O.
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Compute the gross profits of Vishal Ltd., if Stock Turnover is 10 times; Average
Stock is ¥ 8,000; and Selling Price is 20% above cost.

fasme fafres % wepa @MW @t T HY, AfT =ik HeER 10 AT E, sied =iw < 8,000 & afx
fasha e @ W 20% S 3

(A) ¥ 20,000 (B) ¥ 16,000

(C)y T 24,000 (D) T 25.000

(E) Question not attempted / AN 99T

Purchase of furniture for ¥ 10, 00,000, but debited to purchase account. This is a case of :
(A) Error of Principle (B} Compensating Error

(C) Error of Omission (D) Error of Commission

(E)} Question not attempted

THET B @iE T 10,00,000 ¥ B 7, afeT 3@ @i |90 su ) O Amer ®

(A) Trsfa @r gfe @ (B) gfogfa qfe =
(C) 9@ & J = (D) wHIeH W qfe @
(E) =i a7

The new machinery is purchased for ¥ 1.00,000 and freight 1s ¥ 10.000 and installation
charges is ¥ 25,000. The installation expenses will be debited to :

{A) Installation Expenses Account {B) Profit.and Loss Account

(C) Expenses Account (D) Machinery Account

(E} Question not attempted

75 A TR g # T 1.00,000 F ST wrenE 410,000 ofR v W # % 25,0001 w@ToeT
O Bl A IERT 1 I L) B

(A) T gd @il (B) @r—zify @rar
(C) @= @ (D) AT @
(E) or=fE e

Surender and Om Prakash are partners in a firm sharing profits in the ratio of 5:2. They
admit Kulbhushan as-a partner for 1/3 share in the profits of the firm. The new profit
sharing ratio will be :

TF AT A TpIeT T, B F GiEE ¥ ot 5:2 % g ¥ @ gied 1 I A Hamm F 1/3
el & Q. paquur &l ArieR & &9 W Wi ®id & | T a9 e Sga gn

(A) 10:7: 4 By 10:4:7

(C) 7:4:5 D) 5:2:3

(E) Question not attempted / SIgaNT 987

YSS Ltd. forfeited 200 shares of ¥ 10 each on which ¥ 6 per share has been paid. Out
of these 100 shares are reissued at a price of ¥ 5.50 per share. The amount transferred
to capital reserve will be :

arguEyE fafres 7 T 10 ufg 200 St @t steq & foran, R wx T 6 wia s &1 spram foma
T T F 100 T W T 5,50 wiq A % e 1 g i fe s 2 O sema
® aftEcy & W i En

(A) T 100 (B) T 125

(Cy T 175 (D) X 150

(E) Question not attempted / A A

21 P.T.O.
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Which of the following conditions is not correct about the compulsory winding up by
court?

{A) If company has passed ordinary resolution for wound up by court.

(B} Default in holding statutory meeting or submitting statutory report to the registrar.
(C) If Company is unable to pay its debts.

(D) If court is of opinion that it is Just and equitable that company should be wound up.
(E) Question not attempted

T & ANER @I 6 AR # feiaied ® W e W@ g w98 w7

(A) AR &N 7 ST A YT & 0 G W qid fhan g

(B) Qufer o omaifTg & 1 iR B Juhew ae o g F9 F 9% 5

(C) =fe Soi sud o B YIAE B A orEAd T

(D) A =TT B T & &6 98 =g iR <aEd & {6 Sl 1 999 ST fen S 0 QiR |
(E) omgaia wsa

Find out the Operating Ratio, if the Cost of Goods Sold is ¥ 3,50,000; Operating
Expenses T 50,000; and Net sales I 5,00,000.

QR S S SIS, afF S T A & |0 < 3.50,000; 9w =9 T 50,000 9T
g5 fawr T 5,00,000 #1

(A) 70 % (B) 80%

(C)y 60% (D) 10%

(E) Question not attempted / ST A

In the question given below two statéments are labelled as Assertion (A} and Reason (R).
Examine the statements and select the correct option.

Assertion-(A) : The flow of funds occur when a transaction changes on the one hand are
related to non-current account and on the other hand a current account and vice-versa.
Reason-(R) : Purchase of*machinery for cash is flow of funds.

(A) Both (A) and(R) are‘true and (R) is correct explanation of (A).

(B} Both (A) and (R) are true but (R) is not correct explanation of (A).

(C) (A) 1s false and (R) is true.

(D) Both (A) and (R) are false.

(E} Question not attempted

A fgT T weT ® arfemee (A) ofiR RO (R) % &9 & o9 hdl T ¥ BUA Bl S B
AR T frmed &1 T B

ARFUR (A) : TS H JaT6 a9 &A1 & Wd Th T 0931 # Uiaad - @ o geiaa s
T 3 @Y &R US W OR ¥ AR 3He fal| (vice-versa) |

& (R) : 7d1 ¥ wsill &1 wils &2 &1 yawE 2

(A) (A) &R (R) AT & 2, 3T (R), (A) &1 ¥ W 2|

(B) (A) &R (R) 3T ®F &, Wi (R), (A) ®1 FEI TERHIN 7o & |

(C) (A) sm@ & 3R (R) ¥ &I

(D) (A) 3R (R) = srga )

(E) o gana wed
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Which one of the tollowing is NOT operating activity in the cash tflow statement?
{A) Cash receipts from the sales of goods and rendering of services.

(B} Cash receipts from the royalties, fees, commission and other revenue.
(C) Cash receipts from disposal of fixed assets.

(D) Cash payments to and on the behalf of employees.

(E) Question not attempted

frfeftad ¥ & &9 @ us s WA fgaw ¥ uftame nfafaty @ &2

(A) T B {9l &Y ¥9OU W&H H § THhe Wiiadil

(B) rOedl,wig, HHISH T 3 3 € g Wil |

(C) orae gufadl & faem @ e Wit

(D) HHEl B 3T ITH T F Tha Y |

(E} oraiid ued

From the following information, calculate sales required to earn a profit of I 4,50,000,
if Fixed Expenses are ¥ 90.000; and P/V Ratio is 25 %.

ffefad STl @ T 4.50,000 @1 @ty alid w1 & U enasas fyat & T we arg fag
wd T 90,000 ¥ 3T &9 |G 1A (P/V ratio) 25 % 21

(A) T 3,60,000 (B) ¥ 18,00.000

(C) T 14,40,000 (D) % 21:60,000

(E) Question not attempted / ST U

Calculate Break-Even Point in values, if Budgeted output is 80,000 units; Fixed Expenses
are ¥ 4.00,000; Variables Expenses per unit ¥ 3; and Selling Expenses per unit I 10,
afy e sarEa 80,000 THEEai 2 df qegt ¥ guae fag @ o Y, R @d T 4.00,000
Z, uftad=a =w ufaq sag 5 it famy =u ufd 3o T 10

(A) T 8,00.000 (B) ¥ 4,00,000

(C) ¥ 10.,00.000 (D) T 6.00,000

(E) Question not attempted /. AT A5

What is the current purchasing power method of inflation accounting?

(A) Tt does not adjust financial statements for inflation.

(B} It adjusts financial statements for inflation by converting all financial values to
current purchasing power using an appropriate price index.

(C) It adjusts financial statements for inflation by recording all assets and liabilities at
their original purchase price.

(D) It adjusts financial statements for inflation by matching expenses with the revenue
they generate.
Question not attempted

ﬁ'q’retﬁri%f TG Y G P R Tl wE

(A) w7 geEwpifa & g R faeen o1 aee @ sl 3

(B) =% M go@ A Bl SHAN Bk T fad ge ® adue wa gk ® ufatds a3
gt & fou foir foezon &1 gamie & 3

(C) 7 T TR o Tt B T T WE qeF T S HOh TSI h g feeh feraeeti
I FHMEE HI E

(D) @& 39 g @ TS & Wiy Gdl ® HeE #3E pErwia & fae o faan @@
T H £

(E) arg=ia weA
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Human resource accounting attempts to place a value on :
(A) The whole workforce

(B} The operations of personnel department

(C) Training undertaken over period of time

(D) Recruitment processes

(E} Question not attempted

qFE HEYA d@iEA {6 T g @ O ga B
(A) wqol HrEEd W

(B) wmififes fewmT & w4l ux

(C) wwa &t sifay ® fopar man widnaror a¢

(D)« wispzma O¥

(E) o gana wed

) ()" <@2p xap'?

=(11)°, .
11X(1331)3=2 then find the value of '#'.

Y x (12D x (1 )'3
11x (1331)*'2

3
=11 qg 7 @& A 2

(A) 11 (B) 13
(Cy 15 (D) 17
(E) Question not attempted /Sara 9sT

If one cubic cm of water weighs one gm and one cubic cm cube of wood weighs 0.42 gm,
then what is the difference in weight of 1 cubic meter of water and 1 cubic meter of
wood?

(A) 560 kg (B)Y 570 kg

(C) 580 kg (D) 600 kg

(E} Question not attempted

afe T g7 SN O B g9 | U § 3K U U O wael @ auid 0.42 T R, o | g Hiet
AT 3T 1 99 G Adhel & a9 B fhaHT T B Y

(A) 560 fem (B) 570 feur
(C) 580 femm (D) 600 fa
(E) oT=fa wsd
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In applying for admissions to a certain university the students opted for ditterent streams.

th g th th

T} of the students opted for Engineering, ry opted for Business Studies and 3 of

the remaining students opted for Humanities. If the number of students who opted for
Humanities is 76, how many more students opted for Business Studies than Engineering?

ﬁﬁ&ﬁﬁwa&mmﬁﬁrﬁmmﬁuﬁﬂ%%&ﬁmﬁaﬁﬁwm%l% et <siFrafen

1w i ¥, e e i 1 e o e Pl # 4 ¢ g

H TIT B ¢ | TG FAM 99 B T9 B ATl fqamie=t s T 76 2, a1 ot o
aften feran Rt 5 fesme s @1 =g fear e e

(A) 14 (B) 16

©) 18 (D) 20

(E) Question not attempted / STIATT U5

A tank can be filled by Tap-A in 30 minutes and by Tap-B in 45 minutes. Both the taps
are kept open for 6 minutes and then Tap-B is tarned off. In how many minutes more does
the tank get filled?

(A) 20 minutes (B) 18 minutes

{(C) 16 minutes (D) 14 minutes

(E} Question not attempted

TE 7% d-A € 30 fire ¥ v TW-B ¥ 45 fie ¥ w1 war 21 9 9N 99 & 6 freie &
T @len odr 3 9T 1@ Hoda-B ¥ wY fGan Sian 21 3@ 9 o fpanr e @y

(A) 20 frre (B) 18 fime
(C) 16 frre (D) 14 fme
(E) orgaiya usd

A solid cuboidal box has dimensions 20 cm x 16 cm x 6 cm. A cube of side 4 cm is
removed from each corner of the solid. What percent of the volume of the original box
is reduced?

% 3 TAHL TR B T 919 20 T < 16 TH < 6 AHT B 1 3 O % Wdd B ¥ 4 /W
Tl Il o1 e faar e ¥ qa s % omdad ® e ufaea & aWogs ¥ 7

(A) 25% (B) 4%

2 1
(C) 265% (D) 165%
(E) Question not attempted / At 957
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Qs. 86-87 : Each of these questions contains six statements followed by four sets of
combinations of three. Choose the set in which the statements are logically related.

9. F. 86-87 :39H 4 UH U W BT ®UF X Uk 9% AN & WdeH & 9 W e ¥ 9% de
T+ ey wu aifbe w9 § watua &)

86 Laxman is a man.

Meera is Laxman's wife.

Some women are islands.

No man s an island.

Meera is not an island.

Laxman is not an island.

o e T

TEHT Ueh o0 ¥ |
HRT &9 B T )
FT TRaE 29 ¥
B g6T W Tl E
Hg g9 7@ E)
WL T AT Tl E

e an o

(A) ade {B) abe
(C) adf (D) cde
(E) Question not attempted / SIgaN 97

87 All snakes are reptiles.

All reptiles are not snakes.

All reptiles are cold blooded.

All snakes lay eggs.

All reptiles lay eggs.

Snakes are cold blooded.

e e o

T Td gy ¥
ol wigy wd 78 ¥
a4 gligy sremandt £
o 7 o I ¥
T TGy o = F
Y arEmarr

I N

(A) ade (B) bde
(C) abe (D) act
(E} Question not attempted / AN U9
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Qs. 88-90 : Each of these has a question followed by two statements I and II. Mark the

answer as:

W. %. 88-90 :379 ¥ y% W UH W9 oMY TG 4 2w | ofix 1 ¥ | 9% & 3| vt fafea &t

88

89

Pl

{A) if the question can be answered with the help of statement [ alone,

(B} if the question can be answered with the help of statement II alone,

(C) if both the statements [ and II are needed to answer the question, and

(D) if the question cannot be answered even with the help of both the statements.
(E} Question not attempted

(A) afd 997 &1 I haw wUA | & gemar ¥ K o g g,

(B) =l wg &1 S9C thaw sy I & gerar ¥ 4 o e §,
(C) Tf¥ 9e7 &1 STX 39 & Y S0 Ho | el 1l emasas ¥, oK
(D) I 999 &1 IAX T HUAT B TEET H 9T AE GG A1 Fha £

(E) or=fE e

Is it more profitable for a company to produce product Q?

I.  Product R is sold at a price four times that.of Q.

Il.  One unit of Q requires 2 units of labour, while one unit of R requires 5 units of
labour. There is no other constraint on’ production.

TN IATE Q & SHRET HEAT BUAT b [0 D WINETas S0 ¢

[.  3@@ R, Q& #HWd § art T HHq G S S 2|

. 3dE Q @ Uh Shis & 95 &I 2 SHE & AETEhdT Bidl 3, J9kb 341G R & téh
THE & [O70 A9 B 5 THE SNATRdl Tl £ IEET U 3T Big UaGd TE F)

What is the value of pfime number 'x'?

I.  x2+ x is a two-digit iumber greater than 50.
II. % is a three-digit number.

T HEAT x| W el B 7

. x%+x 50® 3fus 37 i & GE& )

I X3 sl @ den 2

The average of three unequal quotations for a particular share is ¥ 110. If all the quotations
are in integral values of rupee. does the highest quotation exceed I 1297

I.  The lowest quotation is I 100.

[I.  One of the quotations is ¥ 115.

fopeil 3igT (share) & AF AN SR A (HIEF) &I ofga T 110 31 Afc T4 Bies™ 00 &0
o 8, d R ey oty wleed ¥ 129 9 oifye B ?

[ g e wiesm T 100 &1 31

II. = 7% Hee™ T 115 & 2

CO-1 27 P.T.O.
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Which of the following statements is / are correct about Nada?
1. It lies about 2 km southeast of Panchkula across Ghaggar.
2. There is a famous Gurudwara here, named after Nadu Shah.
3. Guru Gobind singh ji camped at this place with his army.
Now choose the correct option from the options given below:
(A) 1 and 2 Only (B} 2 and 3 Only
(C) 1 and 3 Only (D) 1, 2 and 3 All
(E} Question not attempted

frefafed & § &9 & ®u9 721 (Nada) & oy 4 981 &7

. ¥ 9R % 39 R dugen § 2 fed i qd 9 flud ¥

2. U A1g 9ME % AW ¥ Y AR §)

3. % TifdE WES F oIUd @Y WY sl W Il

o 0 T el T W 98 9 B 99 it

(A) e 1 8T 2 (B) @aw 2 3fX 3
(C) ad 1 ofr 3 (D) 1,2 &R 3 @
(B} &gaRa wed
Match list I and List IT :
List I List I1
a. Tomb of Raja Khetri I. Tosham
b.  Samadhi of Mungipa II.  Charkhi Dadri
¢.  Samadhi of Baba Shami Dayal 1.~ Loharu
d.  Samadhi of Todar singh V.~ Bhiwani
Tar [ g2 11 9 fram ifeg
w1 T 11
a. T Was! w HOd [. am
b. AT @ "Iy II. = aEd
c. AT QT U W FHIY . =T
d. =T 47 @ gty V. fiar
Now choose the correet answer from the following:
Prtiviftad % & w8 Rbed ghm:
(A) a-IIl, b-II, c-1, d-1V (B) a-Il, b-1, c-1V, d-I1I
(C)y a-IL b-1, ¢-II. d-1V (D) a-1, b-I1, c-III, d-1V

(E) Question not attempted / TN 997

Which of the following towns is said to have been founded by the famous Mahabharata
hero, Yudhisthira?

(A) Julana (B} Uchana

(C) Pindara (D) Kaithal

(E)} Question not attempted

fr=fefaa & o 9 @ TR 7RG % Y TeE giafet gRT SHE ™ o1, UE HE

T

(A) ST (B} 34
(C) fierm (D) %ua
(E} Saiid wed
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Read the following paragraph about revolt of 1857:

He was the only chief present with the British army at Delhi. After the fall of Delhi, he
returned to his state, but not his troops. He left 25 men for service at Larsoli tahsil, and
the same number at Delhi. He sent a detachment of 200 men with General van Courtland
to Hansi and 100 men under their commander Khan Singh to Jhajjar with Col. Lawrence.
Besides these 250 troops remained stationed at Rohtak, 50 at Gohana till the parganas
were fairly settled for good. He was greatly rewarded after the expiry of the uprising of
1857.

The paragraph given above describes which prince/princely state?

(A) Hassan Ali khan of Dujana (B) Akbar Ali of Pataudi

(C) Ahmad Ali of Farrukhnagar (D) Raja Sarup Singh of Jind
(E)} Question not attempted

1857 & fadie @ waftm ey ufvede =t afed

foeett o fafeer @sst & @1 98 srben gRaan Suiyd an Rl & T & e 98 o e
% T U T H el T S 25 TN aRdidl qgaid el 3aq 2 et o gar & o
T 1 3 200 8} B ZHST T a9 Hiews b AT Tl Holl Y 100 St B o HHist
o g & Y qoT, BT A % arel 9ol 29 ot 250 € et @ Tras ¥ fug fe,
50 T TTTON TR 98 9 Wl & 51T 99 . Wer T § W@ 1857 & fugie & of i o7& 991
it (T R @ an

T8 uiEne fhe Tou/ TS &1 9 @il & 7

(A) AN & 369 ol @H (B) USiEl & S1ehEY Il

(C) wIeETIT & TeHE &l (D) S % T 9EN fhs

(E) oaia geq

On whose advice, Kosli town ot Haryana was founded by Kosal Singh?
{A) On advice of his wife (B} On advice of a sage

(C) On advice of the British (D) On advice of his son

(E} Question not attempted
fergan |aTe W, BlyRiT g SR 1 P TR SGET ™1 ?

(A) T U H TAE A (B) ©d # 9w@E |
(C) ot & aes 9 (D) oo 93 B T@E °
(E) =i a7
29 P.T.O.



Qs 96-100 : Answer the questions based on the contents of the respective passages:
Current positions over the prospects of the Indian economy seem to swing between
alarmism and triumphalism. For example, you can juxtapose Morgan Stanley's exuberant recent
report on India's impending economic boom, with analysis that comes out of Centre for
Monitoring Indian Economy (CMIE) on India's dismal employment record and the enduring
constraint it poses. A lot of economic debate is shaped by political mooed aftiliation. There are
genuine difficulties figuring out what is going on. In some cases, there just is not enough data,
a situation not helped by the government's diffidence to data. Different shocks have taught us
how much of our knowledge of the economy is post-facto. Growth is also often a product of
some conjunctures. What may seem like a structural impediment to growth at a particular time
can be compensated for by changing circumstances. But it is worth taking the optimists' case
seriously. Why might we think India is more competitive and attractive now? Will any of these
conditions obtain? The central element in the optimist's story is India's vastly improved
infrastructure. India's logistics, while not top class, are improving. Interestingly, Morgan Stanley
argues that land is not a binding constraint (perhaps it never was). India’s digital infrastructure
is potentially outstanding. Optimism here seems well founded. But the Morgan Stanley report
makes two further claims. The first, that the digital infrastructure will lead to off shoring of
services to India, and second, it will lead to enhanced faccess to credit which will enable
growth. Both are plausible claims, but by no means certain. The second pitch is India's energy
transition. India's economic performance traditionally has been tied to the price of oil. The
optimists are betting on a major green energy transition that will not just bring more investment
but make India energy self-sufficient and competitive. This is in the plausible but not easy
category. There is a big "if" in this storv, The third element is a revival of manufacturing
optimism. The production-linked incentive schemes can, at the margins, work. The baby steps
in defence manufacturing could reach a critical mass where we begin to create an ecosystem
with enormous spillover effects./The pessimists are too quick to dismiss this possibility. This
is now a plausible story, but whether and when it will materialise is still an open question.

96 Which of the following statements could be considered as conclusions of the author of

the passage as borne out by its contents?

i.  Currently the Indian economy 1s seemingly swinging wildly between pessimism and
optimism.

ii.  The shape of the economy of a country is as much dependent on emotional factors
as it is on economic factors.

iii.. Morgan Stanley is reportedly optimistic about the prospects of India’'s economy
while CMIE is reportedly pessimistic about the same.

iv. The Government of India had tasked both Morgan Stanley and CMIE with analysing
the current prospects of India's economy and received divergent reports about the
same from the two parties.

(A) 1 and iv (B} iii only
(C)y . ii. iii (D) 1, ii, iii and iv
(E} Question not attempted
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97 Which of the following statements regarding the state of the economy of a country could
be inferred from the contents of the passage?

98

99

100

CO-1

1.

i.
iii.
iv.
V.

Vi.

(A)
(C)
(E)

Relevant data could play an important role in helping analyse the ground realities
about the same.

The factors atfecting it could vary over time and with circumstances.

Political leanings too affect an individual's perception about the same.

The government of the day decides how much data is gathered and analysed both
qualitatively and quantitatively, to study the same.

Several times it happens that one learns the actual truth about it by hindsight.

It is preferable to take the observations and opinions of the optimists on the same
more seriously than those of the pessimists.

i, ii, iii and vi (B) ii.iv and v

i, ii, iii, iv and v (D) i, ii, iii, iv, v and vi

Question not attempted

The factors on which Morgan Stanley is basing its optimism about the Indian economy

are.

i.
i.
iii.
iv.

(A)
(C)
(E)

The reasonably robust infrastructure facilities in the country

The abundant land resources of India

Offshore digital infrastructure services available.to.us

Enhanced access to credit facilities brought about by the availability of digital
infrastructure in India

1, il and 1v (BY i and 1

i, il and iii (D) A, ii, 11 and iv

Question not attempted

Which of the following statements could be inferred with certainty from the passage?

i

ii.
ii.
(A)

(C)
(E)

India is in a transitional phase in terms of its energy consumption pattern.

India is on the verge of beeoming one of the top producers of green energy in the
world.

India has for long been a large-scale consumer of oil.

i and ii (B} 1i and 1i1

1 and iii (D) 1, i1 and iii

Question not attempted

Which of the following statements about the manufacturing sector in India implied in the
passage?

L.

il
iii.

iv.
V.

(A)
(C)
(E)

It has been on a downswing and needs to be revived on priority for the economy
to flourish.

It is the third most important factor in the economic development of the country.
The government should offer production-linked incentives for the industry to grow
further.

The industries should offer productivity-linked incentives to their employees for
increasing production.

Defence manufacturing i1s presently in its nascent stage in the country but could
grow significantly and even influence growth in other industries.

1, il and iil (B} 1, i1, 11i and 1v

i, i, iii. iv and v (D) i, 1ii and v

Question not attempted
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1 | B 26 D 51 C 76 C
2 B a7 C 52 D 77 D
3 C 28 A 53 B 78 X
- B 29 C 54 B 79 B
5 D 30 c 55 A 80 A
6 B 31 A 56 D 81 C
7 B 32 B 57 C 82 C
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10 A 33 A 60 C 85 X
11 C 36 D 6l D 86 C
12 B 37 B 62 A 87 D
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14 B 39 B 64 D 89 A
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16 B 41 A 66 B 91 D
17 A 42 B 67 D 92 C
18 ¢ 43 A 68 B 93 D
19 L -+ D 69 A 94 D
20 B 45 A 70 D 95 B
21 D 46 C 71 B 96 B
2 A 47 C 12 D 97 C
23 D 48 C 73 A 98 A
24 A 49 A 74 B 99 C
25 C 50 D 75 A 100 D






